restart
Ecua == y'-sqrt(2)-y=0

Eeua =3 y(x) =7 y(x) =0 M
SolGral = dsolve(Ecua)
SolGral = y(x) = _Cle/2* @)
restart
Ecua :=y"-5y'+6y=0
Ecua :=d—2y(x) -5 (iy(x)) +6y(x)=0 A3)
dr’ dx
EcuaCarac :=m* —5m~+6=0
EcuaCarac:=m* —5m+6=0 )
Raiz := solve(EcuaCarac)
Raiz :=3,2 )
SolUno = exp(Raiz[1]-x); SolDos := exp(Raiz[2]-x)
SolUno :=¢>*
SolDos = &>~ (6)
with(linalg) :
WW = wronskian ([ SolUno, SolDos ]|, x)
e3x er
Ww .= N 7
Comp = det(WW) # 0
Comp = -€"e** # 0 ®)
SolGral == y(x) = _CI-SolUno + C2-SolDos
SolGral =y(x) =** C2+¢’* CI )
SolGralComp = dsolve( Ecua)
SolGralComp = y(x) = Cl "+ C2¢&* (10)
restart
Ecua :==y"-4y'+4y=0
_ & d _
Ecua :——2y(x) —4 (ay(x)) +4y(x)=0 a1
dx
EcuaCarac :=m* —4m+4=0
EcuaCarac :=m* —4m+4=0 12)
Raiz = solve(EcuaCarac)
Raiz :=2,2 13)
SolUno = exp(Raiz[1]-x); SolDos = x-exp(Raiz[2]-x)
SolUno = ¢~
SolDos :=x ¢** (14)

with(linalg) :



> WW := wronskian ([ SolUno, SolDos], x)

2x 2x
(§ X €

Ww .= e o 5
2¢°F e+ 2xe™”

=> Comprobar = det(WW) # 0

i Comprobar := (ezx)2 *0

(> SolGral = y(x)=_CI-SolUno + C2-SolDos
SolGral .=y(x) =x e

| comentario

2+ Cl

15)

(16)

a7y



